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A running club has 50 members.
30 of the members take part in
road races. R F

15 of the members take part in
fell races.
12 of the members do not run in
road or fell races.

R represents those runners who
run in Road races.

F represents those runners who
run in Fell races. 7 5

What number should

replace the star? 45 38
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Shape P is reflected in the line y = 1
Yy

Which point does the vertex (2, -1)

reflect to?
A (2,3)
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4 3 2 19 1 1 3 4 B 2,1
c (0,-1)
D 3.2)

ANSWER

A B C D

Explanation

ANSWER

A B C D

Explanation

Online access

To access the online version of your
quiz and to check your answers
click here or scan the QR code.




